
Rising Algebra Summer Packet 

Simplify the expression. 

l,1 - w + 9 + 4w - 17 
fl, S(x - 9) - 2x 

2, 15 + 12a - a - 24 
L/ .. -3(n + 1) + 10 

Write the verbal sentence as an equation. Then tell whether 16 Is 
a solution. 

S, The sum of 13 and a number is 29. 
(,_ The difference of a number and 2 is 18. 
7, The product of -3 and a number is 48. 

Solve the equation. 

f. a-9 14 q, -2 = h + 10 /(), -3x = 36 
II. 

C 17 12, z + 2.8 = -3.7 I�. ... ;J = 3.96 
5 

N. The total length of the parking lot shown is 13.5 meters.
Each of the parking spaces is equal in length. Find the

width of one parking space.
===== 

1---- 13.5 m ---

Solve the equation. 

l.r. 4d+ 9 = -35
I?. g 

- + 6 = -24
11. 9(14-t)=-117

I ,. 15 - 3h = 12 

Ii, -5x + 6 -x = 18 

'}.Q. 7m + 9 -m - 31 
















